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NEW QUESTION 1
An enterprise network has two core routers that connect to 200 distribution routers and uses full-mesh IBGP peering between these routers as its routing method.
The distribution routers are experiencing high CPU utilization due to the BGP process. Which design solution is the most cost effective?

A. Implement route reflectors on the two core routers
B. Increase the memory on the core routers
C. Implement e BGP between the core and distribution routers
D. Increase the memory on the distribution routers
E. Increase bandwidth between the core routers

Answer: A

NEW QUESTION 2
Which two mechanisms avoid suboptimal routing in a network with dynamic mutual redistribution between multiple OSPFv2 and EIGRP boundaries? (Choose
two.)

A. AD manipulation
B. matching OSPF external routes
C. route tagging
D. route tagging
E. route filtering
F. matching EIGRP process ID

Answer: DE

Explanation: 
https://www.cisco.com/c/en/us/support/docs/ip/enhanced-interior-gateway-routing-protocol-eigrp/8606-redist.ht

NEW QUESTION 3
Which solution component helps to achieve comprehensive threat protection and compliance for migration to multicloud SDX architectures?

A. system-oriented architecture
B. OSASE architecture
C. platform-oriented architecture
D. SASE architecture

Answer: D

NEW QUESTION 4
Which management category is not part of FCAPS framework?

A. Configuration
B. Security
C. Performance
D. Authentication
E. Fault-management

Answer: D

NEW QUESTION 5
You have been tasked with designing a data center interconnect to provide business continuity You want to encrypt the traffic over the DCI using IEEE 802 1AE
MACsec to prevent the deployment of any firewall or IPS. Which two interconnect technologies support MACsec? (Choose two.)

A. EoMPLS
B. MPLS Layer 3 VPN
C. DMVPN
D. GET VPN
E. KVPLS

Answer: AE

NEW QUESTION 6
According to the CIA triad principles for network security design, which principle should be priority for a Zero Trust network?

A. requirement for data-in-motion encryption and 2FA authentication
B. requirement for data-at-rest encryption foe user identification within the VPN termination hardware
C. categorization of systems, data, and enterprise BYOD assets that are connected to network zones based on individual privacy needs
D. ensuring that authorized users have high-availability system access from defined zones to defined systems or zones

Answer: A

NEW QUESTION 7
Refer to the exhibit.

The Leader of IT Certification visit - https://www.certleader.com



100% Valid and Newest Version 400-007 Questions & Answers shared by Certleader
https://www.certleader.com/400-007-dumps.html (267 Q&As)

This network is running legacy STP 802.1 d. Assuming "hello_timer" is fixed to 2 seconds, which parameters can be modified to speed up convergence times after
single link/node failure?

A. The transit_delay=5 and dpdu_delay=20 are recommended values, considering helto_timer=2 and specified
B. Only the maximum_transmission_halt_delay and diameter parameters are configurable parameters in 802. to speed up STP convergence process
C. The max_age and forward delay parameters can be adjusted to speed up STP convergence process.
D. Only the transit_delay and bpdu_delay timers are configurable parameters in 802.1d to speed up STP convergence process.

Answer: C

NEW QUESTION 8
Enterprise XYZ wants to implement fast convergence on their network and optimize timers for OSPF However they also want to prevent excess flooding of LSAs if
there is a constantly flapping link on the network Which timers can help prevent excess flooding of LSAs for OSPF?

A. OSPF propagation timers
B. OSPF throttling timers
C. OSPF delay timers
D. OSPF flooding timers

Answer: B

NEW QUESTION 9
Which two characteristics are associated with 802 1s? (Choose two)

A. 802.1s supports up to 1024 instances of 802.1
B. 802.1 s is a Cisco enhancement to 802.1w.
C. 802.1s provides for faster convergence over 802 1D and PVST+.
D. CPU and memory requirements are the highest of all spanning-tree STP implementations.
E. 802.1s maps multiple VLANs to the same spanning-tree instance

Answer: CE

NEW QUESTION 10
A healthcare customer requested that SNMP traps must be sent over the MPLS Layer 3 VPN service. Which protocol must be enabled?

A. SNMPv3
B. Syslog
C. Syslog TLS
D. SNMPv2
E. SSH

Answer: A

NEW QUESTION 10
Refer to the exhibit.
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Company XYZ BGP topology is as shown in the diagram. The interface on the LA router connected toward the 10.1.5.0/24 network is faulty and is going up and
down, which affects the entire routing domain. Which routing technique can be used in the routing policy design so that the rest of the network is not affected by
the flapping issue?

A. Use route dampening on LA router for the 10 1 5 0/24 network so that it does not get propagated when it flaps up and down
B. Use route filtering on Chicago router to block the 10.1.5.0/24 network from coming in from the LA router
C. Use route filtering on LA router to block the 10.15.0/24 network from getting propagated toward Chicago and New York
D. Use route aggregation on LA router to summarize the 10.1.4.0V24, 10.1.5.0724, 10.1.6.0/24. and 10.1.7.0/24 networks toward Chicago

Answer: D

NEW QUESTION 15
Company XYZ network runs IPv4 and IPv6 and they want to Introduce a multidomain, multicast-based network. The new design should use a flavor of PIM that
forwards traffic using SPT. Which technology meets this requirement?

A. PIM-DM
B. PIM-SM
C. PIM-SSM
D. BIDIR-PIM

Answer: C

NEW QUESTION 16
A company uses equipment from multiple vendors in a data center fabric to deliver SDN, enable maximum flexibility, and provide the best return on investment.
Which YANG data model should be adopted for comprehensive features to simplify and streamline automation for the SDN fabric?

A. proprietary
B. OpenConfig
C. native
D. IETF

Answer: B

NEW QUESTION 20
Company XYZ uses an office model where the employees can use any open desk and plug their laptops in. They want to authenticate the end users using their
domain username and password before allowing them access to the network. The design must also accommodate the ability of controlling traffic within the same
group or subnet if a macro (or micro) segmentation-based model is adopted in the future. Which protocol can be recommended for this design to authenticate end
users?

A. LDAP
B. EAP
C. TACACS+
D. RADIUS

Answer: D

Explanation: 
https://www.networkstraining.com/what-is-cisco-ise/

NEW QUESTION 22
Company XYZ, a global content provider, owns data centers on different continents Their data center design involves a standard three-layer design with a Layer
3-only core VRRP is used as the FHRP They require VLAN extension across access switches in all data centers, and they plan to purchase a Layer 2
interconnection between two of their data centers in Europe in the absence of other business or technical constraints which termination point is optimal for the
Layer 2 interconnection?

A. at the core layer, to offer the possibility to isolate STP domains
B. at the access layer because the STP root bridge does not need to align with the VRRP active node
C. at the core layer because all external connections must terminate there for security reasons
D. at the aggregation layer because it is the Layer 2 to Layer 3 demarcation point

Answer: D

NEW QUESTION 27
What is a web-based model in which a third-party provider hosts applications that are available to customers over the Internet?

A. PaaS
B. SaaS
C. laaS
D. WaaS

Answer: B

NEW QUESTION 30
A Service Provider is designing a solution for a managed CE service to a number of local customers using a single CE platform and wants to have logical
separation on the CE platform using Virtual Routing and Forwarding (VRF) based on IP address ranges or packet length. Which is the most scalable solution to
provide this type of VRF Selection process on the CE edge device?
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A. Static Routes for Route Leaking
B. Policy Based Routing
C. OSPF per VRF Instance
D. Multi-Protocol BGP

Answer: B

NEW QUESTION 32
Which two benefits can software-defined networks provide to businesses? (Choose two.)

A. provides additional redundancy
B. reduction of OpEx/CapEx
C. reduced latency
D. decentralized management
E. enables innovation
F. meets high traffic demands

Answer: BE

NEW QUESTION 36
Which two points must network designers consider when designing a new network design or when evaluating an existing network design to help them understand
the high-level design direction with regards to the security aspects? (Choose two)

A. Consider Business objectives and goals
B. Consider organization’s security policy standards
C. Consider for only multi-site networks
D. Consider for only new network technologies and components

Answer: AB

NEW QUESTION 40
Refer to the exhibit.

After a network audit a network engineer must optimize the current network convergence time The proposed solution must consider link layer and control plane
failures. Which solution meets the requirements?

A. Configure debounce timers
B. Increase fast hello timers
C. Implement BFD
D. Enable LSP fast flood

Answer: C

NEW QUESTION 43
As part of workspace digitization, a large enterprise has migrated all their users to Desktop as a Sen/ice (DaaS), by hosting the backend system in their on-
premises data center. Some of the branches have started to experience disconnections to the DaaS at periodic intervals, however, local users in the data center
and head office do not experience this behavior. Which technology can be used to mitigate this issue?

A. tail drop
B. traffic shaping
C. WRED
D. traffic policing

Answer: B

Explanation: 
Traffic Shaping does help with congestion and better bandwidth utilization over the WAN.

NEW QUESTION 44
Which two features control multicast traffic in a VLAN environment? (Choose two)

A. IGMP snooping
B. MLD snooping
C. RGMP
D. PIM snooping
E. pruning

The Leader of IT Certification visit - https://www.certleader.com



100% Valid and Newest Version 400-007 Questions & Answers shared by Certleader
https://www.certleader.com/400-007-dumps.html (267 Q&As)

Answer: AB

NEW QUESTION 48
Refer to the exhibit.

Your company designed a network to allow server VLANs to span all access switches in a data center In the design, Layer 3 VLAN interfaces and HSRP are
configured on the aggregation switches Which two features improve STP stability within the network design? (Choose two.)

A. BPDU guard on access ports
B. BPDU guard on the aggregation switch downlinks toward access switches
C. root guard on the aggregation switch downlinks toward access switches
D. root guard on access ports
E. edge port on access ports
F. access switch pairs explicitly determined to be root and backup root bridges

Answer: AE

NEW QUESTION 50
Which two conditions must be met for EIGRP to maintain an alternate loop-free path to a remote network? (Choose two.)

A. The Reported Distance from a successor is lower than the local Feasible Distance.
B. The Reported Distance from a successor is higher than the local Feasible Distance.
C. The feasibility condition does not need to be met.
D. The Feasible Distance from a successor is lower than the local Reported Distance.
E. A feasible successor must be present.

Answer: AE

NEW QUESTION 52
Which three Cisco products are used in conjunction with Red Hat to provide an NFVi solution? (Choose three.)

A. Cisco Prime Service Catalog
B. Cisco Open Virtual Switch
C. Cisco Nexus switches
D. Cisco UCS
E. Cisco Open Container Platform
F. Cisco Virtual Network Function

Answer: CDF

NEW QUESTION 55
Which two control plane policer designs must be considered to achieve high availability? (Choose two.)

A. Control plane policers are enforced in hardware to protect the software path, but they are hardware platform dependent in terms of classification ability.
B. Control plane policers are really needed only on externally facing devices.
C. Control plane policers can cause the network management systems to create false alarms.
D. Control plane policers must be processed before a forwarding decision is made.
E. Control plane policers require that adequate protocols overhead are factored in to allow protocol convergence.

Answer: AD

NEW QUESTION 57
Drag and drop the design characteristics from the left onto the correct network filter techniques on the right. Not all options are used.
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A. Mastered
B. Not Mastered

Answer: A

Explanation: 

NEW QUESTION 58
A business wants to centralize services via VDI technology and to replace remote WAN desktop PCs with thin client-type machines to reduce operating costs
Which consideration supports the new business requirement?

A. VDI servers should be contained centrally within a DMZ
B. The thin client traffic should be placed in a WAN QoS priority queue
C. VDI servers should be contained within dedicated VLANs in each branch location
D. The WAN should offer low latency and be resized

Answer: D

NEW QUESTION 62
A network attacker exploits application flaws to compromise critical systems in the organization with these objectives:
• Obtain sensitive data and export the data out of the network.
• Compromise developer and administrator credentials to potentially
What is the next step after application discovery is completed in Zero Trust networkings

A. Establish visibility and behavior modeling
B. Enforce policies and microsegmentation.
C. Assess real-time security health.
D. Ensure trustworthiness of systems.

Answer: A

Explanation: 
https://www.cisco.com/c/en/us/solutions/collateral/enterprise/design-zone-security/zt-arch-guide.html 
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NEW QUESTION 65
An enterprise has identified these causes for inefficient CAPEX spending:

 CAPEX planning is driven by technology and not by business objectives.

 The CAPEX planning team lacks the data it needs to perform due diligence tasks.

 The organizational structure lacks sufficient accountability and incentives.
Which corporate cultural change contributes to improving the effectiveness of CAPEX spending?

A. Build a financial control function that delivers high-quality reports on operational expenses for business insight and financial reporting.
B. CxO-level staff must have a full technical understanding but the should not trust their technical leaders fully.
C. Adopt new organizational models that promote real accountability for RO
D. not just revenu
E. EBITDA, and cash.
F. Marketing and product management divisions must reduce their CAPEX budgets significantly to drive the change.

Answer: C

NEW QUESTION 70
You have been asked to design a high-density wireless network for a university campus. Which two principles would you apply in order to maximize the wireless
network capacity? (Choose two.)

A. Implement a four-channel design on 2.4 GHz to increase the number of available channels
B. Choose a high minimum data rate to reduce the duty cycle.
C. increases the number of SSlDs to load-balance the client traffic.
D. Make use of the 5-GHz band to reduce the spectrum utilization on 2.4 GHz when dual-band clients are used.
E. Enable 802.11n channel bonding on both 2.4 GHz and 5 GHz to increase the maximum aggregated cell throughput.

Answer: BD

NEW QUESTION 74
What is the most important operational driver in building a resilient and secure modular network design?

A. Dependencies on hardware or software that is difficult to scale
B. Minimize app downtime
C. Reduce the frequency of failures requiring human intervention
D. Increase time spent on developing new features

Answer: B

NEW QUESTION 78
A healthcare provider discovers that protected health information of patients was altered without patient consent. The healthcare provider is subject to HIPAA
compliance and is required to protect PHI data. Which type of security safeguard should be implemented to resolve this issue?

A. technical and physical access control
B. administrative security management processes
C. physical device and media control
D. technical integrity and transmission security

Answer: D

Explanation: 
https://www.cisco.com/en/US/docs/solutions/Enterprise/Compliance/HIPAA/HIP_AppC.html#wp1085353

NEW QUESTION 83
Company XYZ is running SNMPv1 in their network and understands that it has some flaws. They want to change the security design to implement SNMPv3 in the
network Which network threat is SNMPv3 effective against?

A. man-in-the-middle attack
B. masquerade threats
C. DDoS attack
D. brute force dictionary attack

Answer: D

NEW QUESTION 88
In an OSPF network with routers connected together with Ethernet cabling, which topology typically takes the longest to converge?

A. partial mesh
B. full mesh
C. ring
D. squared
E. triangulated

Answer: B

NEW QUESTION 89
Refer to the exhibit.
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The WAN network of the General Bank of Greece has experienced several outages It takes too long to activate a new branch site The networking department of
the bank plans to upgrade the legacy end-of-life WAN network with a new flexible manageable, and scalable in-house solution The number of branches will
increase exponentially in the next fiscal year The CTO states that the bank’s mam goal is OPEX reduction The network engineering team prepares a table to
evaluate the available options Which WAN technology can be used for the solution?

A. DMVPN over L3VPN
B. Managed SD-WAN
C. SD-WAN over L3VPN
D. SD-WAN over L2VPN

Answer: B

NEW QUESTION 94
A service provider recently migrated to an SD-WAN solution for delivering WAN connections to its customers. One of the main challenges with the SD-WAN
deployment is that branch site volume increases every year, which causes management complexity. Which action resolves the issue?

A. Implement a scalable network management system to manage all sites.
B. Adopt a well-structured SD-WAN service management lifecycle model
C. Build a service orchestration platform on top of the network controller
D. Set up a dedicated team to monitor and provision new customers

Answer: C

NEW QUESTION 95
Refer to the exhibit.

This network is running EIGRP as the routing protocol and the internal networks are being advertised in EIGRP. Based on the link speeds, all traffic between
London and Rome is getting propagated via Barcelona and the direct link between London and Rome is not being utilized under normal working circumstances.
The EIGRP design should allow for efficiency in the routing table by minimizing the routes being exchanged. The link between London and Rome should be
utilized for specific routes. Which two steps accomplish this task? (Choose two.)

A. Configure EIGRP route summarization on all the interfaces to summarize the internal LAN routes
B. Filter the routes on the link between London and Barcelona
C. Filter the routes on the link between London and Rome
D. Configure route leaking of summary routes on the link between London and Rome

Answer: AD

NEW QUESTION 96
A network architect in an enterprise is designing a network policy for certain database applications. The goal of the policy is to allow these applications to access
the internet directly, whereas other user and network applications that communicate with systems or users outside their own network must be routed through the
data center. The focus is on achieving higher availability and a better user experience for the database applications, but switching between different network paths
based on performance characteristics must be supported.
Which solution meets these requirements?
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A. MPLS L3VPN with QoS
B. Cloud onRamp for laaS
C. Cloud onRamp for SaaS
D. MPLS direct connect

Answer: C

Explanation: 
https://www.cisco.com/c/en/us/solutions/collateral/enterprise-networks/sd-wan/nb-06-cloud-onramp-saas-faq-ct 

NEW QUESTION 101
Company XYZ Is running a redundant private WAN network using OSPF as the underlay protocol The current design accommodates for redundancy In the
network, but it Is taking over 30 seconds for the network to reconverge upon failure Which technique can be Implemented In the design to detect such a failure in a
subsecond?

A. STP
B. fate sharing
C. OSPF LFA
D. BFD
E. flex links

Answer: D

NEW QUESTION 104
Company XYZ has a hub-and-spoke topology over an SP-managed infrastructure. To measure traffic performance metrics, they implemented IP SLA senders on
all spoke CE routers and an IP SLA responder on the hub CE router. What must they monitor to have visibility on the potential performance impact due to the
constantly increasing number of spoke sites?

A. CPU and memory usage on the spoke routers
B. memory usage on the hub router
C. CPU usage on the hub router
D. interface buffers on the hub and spoke routers

Answer: C

NEW QUESTION 108
Company XYZ has 30 sites using MPLS L3 VPN and the company is now concerned about data integrity. The company wants to redesign the security aspect of
their network based on these requirements:
• Securely transfer the corporate data over the private WAN
• Use a centralized configuration model.
• Minimize overhead on the tunneled traffic.
Which technology can be used in the new design to meet the company's requirements?

A. S-VTI
B. DMVPN
C. MGRE
D. GET VPN

Answer: D

NEW QUESTION 110
An IT service provider is upgrading network infrastructure to comply with PCI security standards. The network team finds that 802.1X and VPN authentication
based on locally-significant certificates are not available on some legacy phones.
Which workaround solution meets the requirement?

A. Replace legacy phones with new phones because the legacy phones will lose trust if the certificate is renewed.
B. Enable phone VPN authentication based on end-user username and password.
C. Temporarily allow fallback to TLS 1.0 when using certificates and then upgrade the software on legacy phones.
D. Use authentication-based clear text password with no EAP-MD5 on the legacy phones.

Answer: B

NEW QUESTION 112
An engineer is designing a DMVPN network where OSPF has been chosen as the routing protocol A
spoke-to-spoke 'J<ita propagation model must be set up Which two design considerations must be taken into account? (Choose two )

A. Configure all the sites as network type broadcast
B. The network type on all sites should be point-to-multipoint
C. The network type should be point-to-multipoint for the hub and point-to-point for the spokes.
D. The hub should be set as the DR by specifying the priority to 255.
E. The hub should be the DR by changing the priority of the spokes to 0.

Answer: AE

NEW QUESTION 116
You are designing a network for a branch office. In order to improve convergence time, you are required to use the BFD feature Which four routing protocols can
you use to facilitate this? (Choose four.)
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A. IS-IS
B. static
C. RIP
D. EIGRP
E. BGP

Answer: ABDE

NEW QUESTION 119
A multicast network is sing Bidirectional PIM. Which two combined actions achieve high availability so that two RPs within the same network can act in a redundant
manner? (Choose two)

A. Use two phantom RP addresses
B. Manipulate the administration distance of the unicast routes to the two RPs
C. Manipulate the multicast routing table by creating static mroutes to the two RPs
D. Advertise the two RP addresses in the routing protocol
E. Use anycast RP based on MSDP peering between the two RPs
F. Control routing to the two RPs through a longest match prefix

Answer: AF

Explanation: 
https://community.cisco.com/t5/networking-knowledge-base/rp-redundancy-with-pim-bidir-phantom-rp/ta-p/31

NEW QUESTION 121
Company ABC uses IPv4-only. Recently they started deploying new endpoint devices. For operational reasons, IPv6 cannot be disabled on these new endpoint
devices. Which security measure prevents the new endpoint from learning an IPv6 prefix from an attacker?

A. Source Guard and Prefix Guard
B. Router Advertisement Guard
C. Prefix Guard
D. Secure Neighbor Discovery

Answer: B

NEW QUESTION 124
Which two factors provide multifactor authentication for secure access to applications and data, no matter where the users are or which devices they are on?
(Choose two.)

A. persona-based
B. power-based
C. push-based
D. possession-based
E. pull-based

Answer: CD

NEW QUESTION 125
Which feature is supported by NETCONF but is not supported by SNMP?

A. distinguishing between configuration data and operational data
B. taking administrative actions
C. collecting the status of specific fields
D. changing the configuration of specific fields

Answer: A

NEW QUESTION 127
A European national bank considers migrating its on-premises systems to a private cloud offering in a non-European location to significantly reduce IT costs. What
is a primary factor prior to migration?

A. data governance
B. additional latency
C. security
D. cloud connectivity

Answer: C

NEW QUESTION 128
IPFIX data collection via standalone IPFIX probes is an alternative to flow collection from routers and switches. Which use case is suitable for using IPFIX probes?\

A. performance monitoring
B. security
C. observation of critical links
D. capacity planning

Answer: 

The Leader of IT Certification visit - https://www.certleader.com



100% Valid and Newest Version 400-007 Questions & Answers shared by Certleader
https://www.certleader.com/400-007-dumps.html (267 Q&As)

A

NEW QUESTION 131
Your network operations team is deploying Access Control Lists (ACLs) across your Internet gateways They wish to place an ACL inbound on the Internet gateway
interface facing the core network (the "trusted" interface). Which IP address would the ACL need for traffic sourced from the inside interface, to match the source
address of the traffic?

A. inside global
B. outside global
C. inside local
D. outside local

Answer: C

NEW QUESTION 132
What are two design constraints in a standard spine and leaf architecture? (Choose two.)

A. Spine switches can connect to each other.
B. Each spine switch must connect to every leaf switch.
C. Leaf switches must connect to each other.
D. Endpoints connect only to the spine switches.
E. Each leaf switch must connect to every spine switch.

Answer: BE

NEW QUESTION 136
What are two examples of components that are part of an SDN architecture? (Choose two.)

A. software plane
B. control plane
C. application plane
D. management plane
E. network plane

Answer: BD

NEW QUESTION 137
Which three items do you recommend for control plane hardening of an infrastructure device? (Choose three.)

A. routing protocol authentication
B. SNMPv3
C. Control Plane Policing
D. redundant AAA servers
E. warning banners
F. to enable unused services

Answer: ABC

NEW QUESTION 141
Which two statements describe network automation and network orchestration? (Choose two.)

A. Network automation does not provide governance or policy management.
B. Network automation spans multiple network services, vendors, and environments.
C. Network orchestration is done through programmatic REST APIs enabling automation across devices and management platforms.
D. Provisioning network services is an example of network automation.
E. Network orchestration is used to run single, low-level tasks without human intervention

Answer: AC

NEW QUESTION 145
A green data center is being deployed and a design requirement is to be able to readily scale server virtualization Which IETF standard technology can provide this
requirement?

A. data center bridging
B. unified fabric
C. Transparent Interconnection of Lots of Links
D. fabric path

Answer: C

NEW QUESTION 146
Drag and drop the design use cases from the left onto the correct uRPF techniques used to prevent spoofing attacks Not all options are used.
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A. Mastered
B. Not Mastered

Answer: A

Explanation: 

NEW QUESTION 150
Which two features are advantages of SD-WAN compared to MPLS-based connectivity? (Choose two.)

A. uses FEC constructs for traffic forwarding, thereby improving efficiency
B. separates infrastructure and policy
C. uses policy-based forwarding of real-time traffic with less complexity
D. unifies the WAN backbone
E. manages failures through backup links

Answer: CD

NEW QUESTION 151
The SD-WAN architecture is composed of separate orchestration management, control, and data planes Which activity happens at the orchestration plane?

A. automatic onboarding of the SD-WAN routers into the SD-WAN overlay
B. decision-making process on where traffic flows
C. packet forwarding
D. central configuration and monitoring

Answer: D

NEW QUESTION 155
A company requires an RPO of less than 10 seconds to ensure business continuity. Which technology should be deployed?

A. geographically dispersed data centers with asynchronous replication
B. a single data center with duplicated infrastructure, dual PSUs, and a UPS
C. geographically dispersed data centers with synchronous replication
D. a single data center with duplicated infrastructure and dual PSUs

Answer: C

NEW QUESTION 159
The Layer 3 control plane is the intelligence over the network that steers traffic toward its intended destination. Which two techniques can be used in service
provider-style networks to offer a more dynamic, flexible, controlled, and secure control plane design? (Choose two.)

A. access control lists
B. firewalls
C. QoS policy propagation with BGP
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D. remote black-holing trigger
E. prefix lists

Answer: DE

NEW QUESTION 163
Refer to the exhibit.

Traffic was equally balanced between Layer 3 links on core switches SW1 and SW2 before an introduction of the new video server in the network. This video
server uses multicast to send video streams to hosts and now one of the links between core switches is over utilized Which design solution solves this issue?

A. Add more links between core switches.
B. Aggregate links Layer 2 link aggregation.
C. Apply a more granular load- balancing method on SW1.
D. Apply a more granular load-balancing method on SW2.
E. Filter IGMP joins on an over -utilized link.

Answer: B

NEW QUESTION 165
The major business applications of an enterprise are largely monolithic and hard-coded As part of a major modernization and overhaul of the applications the goal
is to move to a modular and containerized application architecture mode At the same time decoupling from the hardware is desired to move to an on-demand
provisioning However the CyberOps team mandated that the final architecture must provide the same security levels as an air-gapped data center. Which cloud
architecture meets these requirements?

A. laaS
B. private cloud
C. PaaS
D. hybrid cloud
E. public cloud

Answer: B

NEW QUESTION 168
Company XYZ has implemented policy-based routing in their network. Which potential problem must be kept in mind about network reconvergence and PBR?

A. It can limit network scalability
B. It can create microloops during reconvergence
C. It increases convergence time.
D. It reduces convergence time.

Answer: B

NEW QUESTION 169
Company XYZ must design a strategy to protect their routers from DoS attacks, such as traffic destined to the router's own route processor, using separate control
plane categories. Which two capabilities can be used to achieve this requirement? (Choose two.)

A. Control Plane Protection using queue thresholding on the transit subinterface
B. Control Plane Protection using port filtering on the transit subinterface
C. Control Plane Protection using port filtering on the main interface
D. Control Plane Protection using queue thresholding on the host subinterface
E. Control Plane Protection using port filtering on the host subinterface

Answer: DE

NEW QUESTION 171
In the case of outsourced IT services, the RTO is defined within the SLA. Which two support terms are often included in the SLA by IT and other service providers?
(Choose two.)

A. network size and cost
B. support availability
C. network sustainability
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D. network reliability
E. resolution time

Answer: BE

NEW QUESTION 173
What are two common approaches to analyzing and designing networks? (Choose two.)

A. bottom-up approach
B. high-low security approach
C. top-down approach
D. left-right approach
E. three-tier approach

Answer: AC

NEW QUESTION 178
Refer to the exhibit.

Company XYZ BGP topology is as shown in the diagram. The interface on the LA router connected toward the 10 1.5.0/24 network is faulty and is going up and
down, which affects the entire routing domain. Which routing technique can the network administrator use so that the rest of the network is not affected by the
flapping issue?

A. The LA administrator should use route aggregation to summarize the 10 1 4.0/24, 10 1 5 0/24, 10.1.6.0/24, and 10 1 7 0/24 networks toward Chicago
B. The LA administrator should use route dampening for the 10.1.5 0/24 network so that it does not get propagated when it flaps up and down.
C. The LA administrator should use route filtering to block the 10.1.5.0/24 network from getting propagated toward Chicago and New York.
D. The Chicago administrator should use route filtering to block the 10.1.5.0/24 network from coming in from the LA router.

Answer: B

NEW QUESTION 180
Company XYZ asks for design recommendations for Layer 2 redundancy. The company wants to prioritize fast convergence and resiliency elements. In the
design. Which two technologies are recommended? (Choose two.)

A. Design MLAG/MC-LAG into the network wherever possible.
B. Configure DHCP snooping on the switches.
C. Use root guard.
D. Use BPDU guard.
E. Use UniDirectional Link Detection.

Answer: AE

NEW QUESTION 183
A business customer deploys workloads in the public cloud. Now the customer network faces governance issues with the flow of IT traffic and must ensure the
security of data and intellectual property. Which action helps to identify the issue for further resolution?

A. Set up a secure tunnel from customer routers to ensure that traffic is protected as it travels to the cloud service providers.
B. Send IPFIX telemetry data from customer routers to a centralized collector to identify traffic to cloud service providers
C. Build a zone-based firewall policy on Internet edge firewalls that collects statistics on traffic sent to cloud service providers
D. Apply workload policies that dictate the security requirements to the workloads that are placed in the cloud.

Answer: B

NEW QUESTION 187
An international media provider is an early adopter of Docker and micro services and is using an open-source homegrown container orchestration system. A few
years ago, they migrated from on-premises data centers to the cloud Now they are faced with challenges related to management of the deployed services with
their current homegrown orchestration system.
Which platform is well-suited as a state-aware orchestration system?

A. Puppet
B. Kubemetes
C. Ansible
D. Terraform

Answer: B
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NEW QUESTION 188
A service provider hires you to design its new managed CE offering to meet these requirements
• The CEs cannot run a routing protocol with the PE
• Provide the ability for equal or unequal ingress load balancing in dual-homed CE scenarios.
• Provide support for IPv6 customer routes
• Scale up to 250.000 CE devices per customer.
• Provide low operational management to scale customer growth.
• Utilize low-end (inexpensive) routing platforms for CE functionality. Which tunneling technology do you recommend?

A. FlexVPN
B. point-to-point GRE
C. DMVPN
D. LISP

Answer: D

NEW QUESTION 191
A business wants to refresh its legacy Frame Relay WAN. It currently has product specialists in each of its 200 branches but plans to reduce and consolidate
resources. The goal is to have product specialists available via video link when customers visit the nationwide branch offices. Which technology should be used to
meet this objective?

A. DMVPN phase 1 network over the Internet
B. Layer 3 MPLS VPN hub and spoke
C. Layer2VPLS
D. Layer 3 MPLS VPN full mesh

Answer: D

NEW QUESTION 193
When an SDN-based model is used to transmit multimedia traffic, which aspect should an architect consider while designing the network?

A. QoE estimation
B. security
C. traffic patterns
D. flow forwarding

Answer: A

NEW QUESTION 195
Your company wants to deploy a new data center infrastructure Based on the requirements you have chosen VXLAN as encapsulation technology The customer is
concerned about miss-configuration of Layer 2 devices and DC wide outages caused by Layer 2 loops What do you answer?

A. VXLAN offers native loop avoidance mechanism
B. Storm Control should be enabled on all ports
C. VPC+ could prevent L2 loop on access ports
D. BPDU Guard should be enabled on all VTEP access ports

Answer: D

NEW QUESTION 198
Company XYZ has a new network based on IPv6. Some of the subnets that they are planning to use will be confidential and need an addressing scheme that
confines them to the local campus network. Which type of IPv6 addresses can be used for these networks in the IPv6 addressing design?

A. local addresses
B. private addresses
C. link-local addresses
D. unique local addresses

Answer: D

NEW QUESTION 201
Which two statements describe the functionality of OSPF packet-pacing timers? (Choose two ) The group-pacing timer controls the interval that is used for group
and individual LSA refreshment

A. OSPF flood-pacing timers allow dynamic control of the OSPF transmission queue size
B. OSPF retransmission-pacing timers allow control of interpacket spaang between consecutive link-state update packets in the OSPF retransmission queue.
C. OSPF retransmission-pacing timers allow control of packet interleaving between nonconsecutive link-state update packets in the OSPF retransmission queue.
D. OSPF flood-pacing timers allow control of interpacket spacing between consecutive link-state update packets in the OSPF transmission queue

Answer: BD

NEW QUESTION 206
Organizations that embrace Zero Trust initiatives ranging from business policies to technology infrastructure can reap business and security benefits. Which two
domains should be covered under Zero Trust initiatives? (Choose two)

A. workload
B. work domain
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C. workplace
D. workgroup
E. workspace

Answer: AC

NEW QUESTION 208
Which mechanism enables small, unmanaged switches to plug into ports of access switches without risking switch loops?

A. PortFast
B. UDLD
C. Root guard
D. BPDU guard

Answer: D

NEW QUESTION 210
An enterprise campus is adopting a network virtualization design solution with these requirements

 It must include the ability to virtualize the data plane and control plane by using VLANs and VRFs

 It must maintain end-to-end logical path transport separation across the network

 resources available grouped at the access edge
Which two primary models can this network virtualization design be categorized? (Choose two)

A. Path isolation
B. Session isolation
C. Group virtualization
D. Services virtualization
E. Edge isolation

Answer: AD

NEW QUESTION 214
Which solution component helps to achieve rapid migration to the cloud for SaaS and public cloud leveraging SD-WAN capabilities?

A. service-oriented cloud architecture
B. Cloud onramp
C. cloud registry
D. microservices in the cloud

Answer: B

NEW QUESTION 216
SD-WAN can be used to provide secure connectivity to remote offices, branch offices, campus networks, data centers, and the cloud over any type of IP-based
underlay transport network. Which two statements describe SD WAN solutions? (Choose two.)

A. SD-WAN networks are inherently protected against slow performance.
B. Control and data forwarding planes are kept separate.
C. Improved operational efficiencies result In cost savings.
D. Solutions include centralized orchestration, control, and zero-touch provisioning.
E. Solutions allow for variations of commodity and specialized switching hardware.

Answer: BD

NEW QUESTION 218
Company XYZ is in the process of identifying which transport mechanism(s) to use as their WAN technology. Their main two requirements are.
• a technology that could offer DPI, SLA, secure tunnels, privacy, QoS, scalability, reliability, and ease of management
• a technology that is cost-effective
Which WAN technology(ies) should be included in the design of company XYZ?

A. Software-defined WAN should be the preferred choice because it complements both technologies, covers all the required features, and it is the most cost-
effective solution.
B. Internet should be the preferred option because it is cost effective and supports BFD, IP SL
C. and IPsec for secure transport over the public Internet.
D. Both technologies should be use
E. Each should be used to back up the other one; where the primary links are MPLS, the internet should be used as a backup link with IPsec (and vice versa).
F. MPLS meets all these requirements and it is more reliable than using the Interne
G. It is widely used with defined best practices and an industry standard.

Answer: A

NEW QUESTION 223
An enterprise plans to evolve from a traditional WAN network to a software-defined WAN network. The existing devices have limited capability when it comes to
virtualization. As the migration is carried out, enterprise applications and services must not experience any traffic impact. Which implementation plan can be used
to accommodate this during the migration phase?

A. Deploy controllers, deploy SD-WAN edge router
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B. In the data center, and migrate branch sites.
C. Migrate data center WAN routers, migrate branch sites, and deploy SD-WAN edge routers.
D. Migrate branch sites, migrate data center WAN routers, and deploy controllers.
E. Deploy SD-WAN edge routers in the data center, deploy controllers, and migrate branch sites

Answer: A

NEW QUESTION 228
Which feature must be part of the network design to wait a predetermined amount of time before notifying the routing protocol of a change in the path in the
network?

A. Transmit delay
B. Throttle timer
C. SPF hold time
D. Interface dampening

Answer: B

NEW QUESTION 232
The controller has a global view of the network, and it can easily ensure that the network is in a consistent and optimal configuration. Which two statements
describe a centralized SDN control path? (Choose two.)

A. Scaling of the centralized controller cluster is challenging for services like DHCP and load-balancing.
B. It is highly-available by design with no single-point-of-failure risks present.
C. Integrating smart NIC capabilities on the local host level is made easier through rest APIs.
D. It significantly improves the latency when performing reactive handling of PACKET_IN events.
E. It centralized controller can support all southbound APIs, which allows for easy integration with legacy equipment.

Answer: AE

NEW QUESTION 234
How must the queue sizes be designed to ensure that an application functions correctly?

A. Each individual device queuing delay in the chain must be less than or equal to the application required delay.
B. The queuing delay on every device in the chain must be exactly the same to the application required delay.
C. The default queue sizes are good for any deployment as it compensates the serialization delay.
D. The sum of the queuing delay of all devices plus serialization delay in the chain must be less than or equal to the application required delay.

Answer: D

NEW QUESTION 239
SDN is still maturing Throughout the evolution of SDN which two things will play a key role in enabling a successful deployment and avoiding performance visibility
gaps in the infrastructure? (Choose two.)

A. rapid on-demand growth
B. dynamic real-time change
C. falling back to old behaviors
D. peer-to-peer controller infrastructure
E. integration of device context

Answer: BE

NEW QUESTION 240
The Company XYZ network is experiencing attacks against their router. Which type of Control Plane Protection must be used on the router to protect all control
plane IP traffic that is destined directly for one of the router interfaces?

A. Control Plane Protection host subinterface
B. Control Plane Protection main interface
C. Control Plane Protection transit subinterface
D. Control Plane Protection CEF-exception subinterface

Answer: A

NEW QUESTION 241
......
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